o c}talof| A 2x + 5y & wo]of & Z1-& ZEsto] fieY 6x+2y
7F = 3dek. o] o, vi=A] A4kt ©2?

m°l‘

O -8x+4y @ -4x+ 6y ® -2x+ 6y

@)2x - 8y ® 8x+2y

~&B

ol@ A& At 5
A+ (2x+ by) = 6x+ 2y

= (6x+ 2y) — (2x + 5y) = 4x — 3y
whabA] 2 A Al4FeA (4x - 3y) — (2x + 5y) = 2x — 8y o[t}




0.1x-0.2y = -0.7

D 1 (@)2 ® -1 @ -2 ® 3

0.2x+0.1y=0.1 2x+y=1
=
0.1x-0.2y = -0.7 x—2y=-7
3
x=-1, y=3& x+ay=5° dstH
—14+3a=5. .a=2

94 '5H-—1“_—'x: _l’y:




s fx) 9] aHmAL A (2, -3)2 v, L “’2}:5 (@)
ofm, f(-1) x f(1) & F*27
@ -2 @0 ® 2 @ 4 ® 6
TO1@ _ 314 71871 -
—a
4 (2, -3) & AUERE y = —3x+ bof HYstHA
—3=—-6+b .. b=3
Ly=-3x+3

f(-1)=3+43=6, f(1)=-3+3=0
f(=1)x f(1) =0
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